Apartment in Gozo - Xlendi



Gozo - Xlendi, Gozo



€425,000

Total Rooms: 5

Bathrooms: 2

Floor Area (m²): 80

Reference No: 240031035-1169

P☐ Bedrooms: 2

Apartment - For Sale - Gozo - Xlendi

Xlendi - New on the Market. This 4th Floor Apartment enjoys majestic sea and cliff views from its Terrace and Living Room!!!! Property consists of a combined dining/kitchen, 2 double bedrooms, 2 bathrooms with showers and a back balcony. Property is served with a lift and comes fully finished and furnished. Great Location!

Features

Electricity Utility

Double Glazed

Rooms

Kitchen/Living/Dining: 10.6 x 3.3 m (34.98 m2)

✓ Double Bedroom : 4 x 3.3 m (13.2 m2)

✓ Double Bedroom : 4.5 x 2.8 m (12.6 m2)

✓ Hallway : 6.1 x 1 m (6.1 m2)

✓ Bathroom : 1.8 x 1.8 m (3.24 m2)

✓ Bathroom Ensuite : 2 x 1.9 m (3.8 m2)

Open Space : 2.9 x 1.5 m (4.35 m2)

Open Space : 6 x 1 m (6 m2)

Gallery

















Nick Portelli RE/MAX Property Centre - Victoria

M: 79221227

E: nick@remax.com.mt

T: 21566824

RE/MAX Property Centre - Victoria
11,Independence Square, Gozo - Victoria, Malta